R0O015119 Mount Assemblies

Assembly instructions

@ Difficulty Medium ® Duration 1hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Check correct position for mounting
Step 3 - Mount cylinder assemblies

Step 4 - Attach push eject bar

Step 5 - Finalise position of cylinder stroke
Step 6 - Mount valve bank

Step 7 - Mount safety gate assembly

Comments

Introduction

Tools Required

Standard hex key set
Standard spanner set
Standard hss drill set
Standard tap set

Parts Required

D0004600 Outfeed Eject Bar
R0015342 Bench Assemble Outfeed Parts

Page 1/6



Step 1 - Unless otherwise stated

Use Loctite 243 on all fasteners
Use Loctite 570 on all threaded pneumatic connections
Pen mark all bolts when finalised

LO@CTITE.

< i
Sm 5139 O

Step 2 - Check correct position for
mounting

Note that main fixing bar is unhanded and will have various
mounting points for components.

Double check correct holes are used for fixing assemblies. Follow
steps below to identify correct mounting points

Step 3 - Mount cylinder assemblies

Attach 2 off pre built cylinder assemblies from R0015342 as shown using 4 off Mé x 20 socket caps and M6 heavy washers . Do not apply
tension to these bolts as they will need adjusting

Page2/6


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_quality.png
https://stuga.dokit.app/wiki/Fichier:R0015119_Mount_Assemblies_Screenshot_2023-08-30_150353.png
https://stuga.dokit.app/images/thumb/b/bf/R0015119_Mount_Assemblies_Screenshot_2023-08-30_150757.png/ia-53b8d25d85694a39e31cc98b29b46c20-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_150757.png.png

Step 4 - Attach push eject bar

1 Attach DO004600 Outfeed Eject Bar x1 as shown using 4 off M6 x 25 socket caps. Apply only light pressure to these fixings
2 Ensure cylinder assemblies are retracted to the position shown
3 Finalise fixings ( 4 off 2 per cylinder assembly) shown to set correct pitching between cylinder assemblies

4 Set correct push bar position. Slacken indicated fixings and set push bar at its highest point as indicated

5 Finalise 4 off fixings that hold the push bar

Page 3/6


https://stuga.dokit.app/images/thumb/e/eb/R0015119_Mount_Assemblies_Screenshot_2023-08-30_150205.png/ia-79edf93d90fca078ff3676ab7afde189-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_150205.png.png
https://stuga.dokit.app/images/thumb/d/db/R0015119_Mount_Assemblies_Screenshot_2023-08-30_152047.png/ia-0b04509ca4cdb8a30eeb23c2041dd712-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_152047.png.png
https://stuga.dokit.app/images/thumb/2/21/R0015119_Mount_Assemblies_Screenshot_2023-08-30_152223.png/ia-6db675af9e721425472da47054cdbe08-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_152223.png.png
https://stuga.dokit.app/images/thumb/f/ff/R0015119_Mount_Assemblies_Screenshot_2023-08-30_152417.png/ia-74293c06e369ba064bbf4b61023825f8-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_152417.png.png
https://stuga.dokit.app/images/thumb/0/02/R0015119_Mount_Assemblies_Screenshot_2023-08-30_152651.png/ia-15fffc5d0e66693839a2dde841eea105-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_152651.png.png

Step 5 - Finalise position of cylinder stroke

1 Measure 1 cylinder assembly at position shown
2 Adjust cylinder stroke of second assembly to replicate this first measurement

3 Double check all fixings have been Finalised including cylinder stroke lock nuts

N

-

Step 6 - Mount valve bank

Ecr raised 01/11/23 to correct incorrect hole size for mounting valvebank. Rework to M4 fixing until ecr is processed
Mount Pre assembled valve bank from R0015342 at the position shown. Use 2 off M4 x 40 socket caps and A form washers to fix.

hown

If pre drilled holes are not present, drill 2 off M4 tapped holes to position the valve bank to the measurements s

222 3mm

Page 4/6


https://stuga.dokit.app/images/thumb/f/fd/R0015119_Mount_Assemblies_Screenshot_2023-08-30_152815.png/ia-c0fa371747330d97f47d95991f49014e-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_152815.png.png
https://stuga.dokit.app/images/thumb/a/aa/R0015119_Mount_Assemblies_Screenshot_2023-08-30_153115.png/ia-9bbd85bf5277dcb375227a2f1896d2d5-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_153115.png.png
https://stuga.dokit.app/wiki/Fichier:R0015119_Mount_Assemblies_Screenshot_2023-08-30_154107.png
https://stuga.dokit.app/wiki/Fichier:R0015119_Mount_Assemblies_Screenshot_2023-08-30_154309.png

Center Dist

Step 7 - Mount safety gate assembly

Do not apply adhesive or finalise fixings

Use 3 off M8 x 20 socket caps with M8 heavy washers to fix safety gate into position shown
To Fix cylinder base to frame, use the following fasteners

1 off M6 x 50 socket cap 2 off M6 A Form washer 1 off Mé standard nut 1 off M6 Nyloc nut
See Photo for orientation

these holes to
attach safety
gate

Page5/6


https://stuga.dokit.app/wiki/Fichier:R0015119_Mount_Assemblies_Screenshot_2023-08-30_154525.png
https://stuga.dokit.app/wiki/Fichier:R0015119_Mount_Assemblies_Screenshot_2023-08-30_154753.png
https://stuga.dokit.app/images/thumb/9/92/R0015119_Mount_Assemblies_Screenshot_2023-08-30_154815.png/ia-12d85e1752d02f0f2cd0384ceab0ff1e-1000px-R0015119_Mount_Assemblies_Screenshot_2023-08-30_154815.png.png

Page 6/6


https://stuga.dokit.app/wiki/Fichier:R0015119_Mount_Assemblies_Screenshot_2023-08-30_155217.png
https://stuga.dokit.app/images/thumb/8/84/R0015119_Mount_Assemblies_Screenshot_2023-11-24_134912.png/ia-2802d734a5bdc8554c5218b98b4a8213-1000px-R0015119_Mount_Assemblies_Screenshot_2023-11-24_134912.png.png

	R0015119 Mount Assemblies
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Check correct position for mounting
	Step 3 - Mount cylinder assemblies
	Step 4 - Attach push eject bar
	Step 5 - Finalise position of cylinder stroke
	Step 6 - Mount valve bank
	Step 7 - Mount safety gate assembly


